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Chapter : Physics

(1) Which of the following is most important for
absorption of heat radiated from the Sun as well as
from the Earth?

frafaf@a 7 & g gar g @ fafeRa s &
HAATOT & oI HTH ITITLTH FAT 67
SSCCGLO8BAUG-S3 : 33

(a) Carbon dioxide /&1 SE3TFATSS

(b) Oxygen/3itaaista

(c) Carbon monoxide/aTesT AlATFATSS

(d) Nitrogen/=ITSgIoteT

(2) Which of the following is not a vector quantity?
fArafafad & ¥ i v afeer A A8 82
SSCCGLO8AUG-S3 : 37
(a) Acceleration/ca3oTr
HURT

(c) Force/del

(b) Electric current/ﬁa:{la(‘-r

(d) Velocitygdar

(3) The phenomena of raising the outer edge of the
curved roads above the inner edge to provide
necessary centripetal force to the vehicles to take a
safe turnis called ____.

aTgaiT ohT GRI&T HIS el o foIT 3T eh el aef Yael
A g TRl GATIER Tgeh & STELT fehelR Y 3MTcTReh
FAR A FR AT AT URAT R Fed gl
SSCCGLO8BAUG-S3:38

(a) banking of roads/aTe H5e (5 &I dfehr)

(b) cornering of roads/Tge & IeT AT

(c) elevation of roads/@se &Y ZaT T

(d) tempering of roads/&3 T STRIT

(4) Which of the following pairs is INCORRECT?
I. Hematite : Iron

Il. Pitchblende : Copper

[ll. Monazite : Thorium

TR & @ e a1 JoA aTelcT &7
|. §Herse : oiter

II. Rrredles : dfem

1. A=TTeTSe : MRTH
SSCCGLOBAUG-S3 : 41

(a) Only I/ &aeT |

(b) Only Il / aet Il

(c) Only I and 11/ Sl | T II

(d) Only I and Ill/3aer | T 1

(5) Speed of light is maximumin ___.
_ #geprer Ay gaiE B
SSCCGL10AUG-S1 : 37
(a) vacuum/faTd

() liquids/cd<er Terey

(b) solids/ar g gerey
(d) gases/IrT

(6) What is the Sl unit of electric current?
Tt TR T TH.3TS. AT F7 87
SSCCGL10AUG-S1: 38
(a) Newton/=gesT

(c) Ampere/3THIRR

(b) Joule/Sfe
(d) Watt/are

(7) Gravitational force is maximum at which of the
following place?

AT TEd 7 @ e U1 IR Iecarehyor S Fod
HUH &7

SSCCGLO8BAUG-S2 : 32

(a) At equator/$THET T@T N

(b) At tropic of cancer/@e Y&T TR

(c) At tropic of Capricorn/He ¥@T WX

(d) At poles/&d @1 T

(8) Which of the following is not a vector quantity?
fArafafaa & @ i ve afger aAmar A8 82
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SSCCGLOBAUG-S2 : 37

(a) Momentum/37Ta3T (b) Displacement/faeamgeT

¢) Torque/SelTgUT (S1&)  (d) Speed/aTfar

(9) Which among the following determines the pitch
of a sound?

Rfad & O eaaiy TR (=) 31 i FuiRa
AT 8?7
SSCCGL11AUG-S3 : 37
(a) Amplitude/3TIH

(¢) Loudness/dseldr

(b) Frequency/mﬁ‘_
(d) Wavelength/aRercer

(10) Which phenomena shows the particle nature of
light?

hleT T ETeT FehTI Y 0T Fehfct o fezmel 87
SSCCGL11AUG-S3: 38

(a) Diffraction/faad=T

(b) Interference /eafaepoT

(c) Photoelectric effect/FehTerfae g Jemma

(

d) Polarization /WUT

(11) What type of image form by a concave mirror?
I GUUT SaRT R e T TfaI TS SeiclT &7
SSCCGL21AUG-S3 : 37

(a) Virtual image / 3THRAT gfdfse

(b) Real image / ar&dide Ffafae

(c) Inverted image / 3eeT UTdfse

(d)All the above / 3UUed AT

(12) The distance-time graph for the motion of an
object moving with a constant speed is a
mm@mmmﬁqu&mww
__ gargl

SSCCGL21AUG-S3 : 38

a) Dot /g (b) Circle / a0
(c) Straight Line / TXel X@T (d) Curve / dsh

(13) A thread is actually stronger than a
steel wire.

__ H AR ST & dR ¥ 3170 oo gar g
SSCCGL21AUG-S3 : 40
(a) wool / ZeT

() jute /SIE

(b) cotton / &h4arda
(d) nylon / F-!'Ig?»fll?-r

(14) Convex and concave mirrors are examples of?

3e7el 31X 3 del SUUT fohdeh 3ETE0T &7
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SSCCGL22AUG-S2 : 37
(a) Plane mirrors@H ol g9oT

(b) Spherical mirrorsatel gyoT
(c) Inverted mirror3eeT &¥oT
(d) Erect mirror&Yerr gdor

(15) The frictional force exerted by fluids is also called

el EIRT SEIT AT GOT ST AT gl &1
SSCCGL22AUG-S2 : 38
(a) Drag FYoT

(c) upthrust 3c&Ta

(b) buoyancy 3cTellacshdr
(d) convection HagsT

(16) Who discovered electricity and invented the
lightning rod and bifocals?

et 1 @iet fohget 1 3R A3 =mereh 3R efawrerd
T IASHR fohdar fanar?

SSCCGL22AUG-S2: 44

(a) Kirkpatrick Macmillanfrertifess HefaeeT

(b) Benjamin FranklinsiSiTf&sT $hes fole

(c) William Henry Fox Talbotfaferast g=dY wiea ¢orale
(d) Sir Alexander FIemingWﬁmWﬁ?

(17)
What is the minimum distance (in metres) required to
hear an echo?

gfdeafa goaa & Tl ogeTaa g (FHiex ) fohdah glelr
qIRT?
SSCCGLO5AUG-S3 : 37
(a) 10 (b) 13 (c) 17
(d) 21

(18) Why a black board does appears black in colour?
Teh QITAYCE 3T & Tl FT e@rs &ar &7
SSCCGLO5AUG-S3 : 38

(a) It reflects black colour / g el LT Sfafsfad sar

g

(b) It absorbs black colour / g STell T AT HTAT
g

(c) It reflects all colours / a8 @R W yfafsfeag s=arg
(d) It absorbs all the colours / ag TR LT TN
FATE

(19) If objects appear enlarged and inverted in a rear
view mirror, then which type of mirror is used?
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I IR ST aTel EUUT H FEU TST AT I
TS & &, At R ehIR 3 EdoT &R YT fomam 1T 82
SSCCGL10AUG-S2 : 37

(a) Concave3Tddd (b) Convex3tel

(c) Cylindrical SeT=TTR (d) PlaneuReeft

(20) Soap bubble attains spherical shape due to
AT T Folgoll % HIROT IR ITd T ofdl

gl
SSCCGL10AUG-S2 : 38
(a) inertiasiscd (b) pressurecrs

(c) surface tensionq®a dslld
(d) ViscosityRITeTdr

(21) In humans, the sound is produced by the

AeTal A Lafed _ anrT 3cueT g B
SSCCGL17AUG-S1 : 37

(a) oesophagus/geehr (b) larynx/&d

(c) medulla/ AT (d) epiglottis/HhoToe

(22) The vocal cords in men are about ______long.
T # dTefcic] ol ___ AFI Bl ol
SSCCGL17AUG-S1 : 38

(a) 10mm/10 &=, (b) 20mm/20
E=rsi

(c) 30mm;/30 T&H=T. (d)
40mm/40 TR

(23) The bending of light when it passes around a
corner or a slit is due to

eI ol fohei 7 Pl eRR A IRATE, &
Ioig U dfehd &1 ST 8

SSCCGLO9AUG-S1 : 37

(a) reflection / gfafaes

(b) refraction / 319adieT
(c) diffraction / faader
(d) total internal reflection / quT 37icReh Ffcfess

(24) It is difficult to fix a nail on a freely suspended
wooden frame. Which law supports this statement?
TIAT Y H oeeh g3 TR & Teh il H el Slehell
FTST BT &1 PIeT AT HTH 5T FUT T GHUT FIAT &7
SSCCGLO9AUG-S2 : 37

(a) Law of inertia / STgdT & [aH

(b) Newton's second law / #g&sT &T G&RT foi#

(c) Newton's third law / #g¢eT T IR g
(d) Pascal's law / GTEhel T e

(25) Which one of the following is not a property of
electromagnetic waves?

TF=ATeEe 7 & st AT faegd geaehra el &1 o
oTET 87

SSCCGLO9AUG-S2 : 38

(a) Electromagnetic waves do not show interference
and diffraction.

gl

(b) Oscillating electric field and magnetic field are
perpendicular to each other.

Taege T gaehr &1 Teh gEY & FaET Bl ¢ |

(c) Electromagnetic waves are transverse waves
faega ooy aaT Jegoed adT greh ¢ |

(d) Electromagnetic waves do not require a medium
to propagate.

R T ottt 3 gt 35 oI el sz
T AT 161 gl

(26) At which of the following place, weight of an
object is maximum?

fRrfafad & @ g T W v g% &1 #R Fdiferdn
grare?

SSCCGL11AUG-S1: 37

(a) At poles / %T:fi'@T

(b) At equator / ﬂ(??%'qi'@T

(c) At tropic of Capricorn / He< @1
(d) At tropic of cancer / Fch @1

(27) What is the Sl unit of temperature?

TTIHT &7 TF. 3715, AT FT 87
SSCCGL11AUG-S1:38

(a) Kelvin / &feas (b) Joule / et

(c) Celsius / dfcTaw (d) Fahrenheit / ®RIgTSE

(28) What is the Sl unit of intensity of sound?

egfey T Agar 1 TH. IS, AR FAT 2
SSCCGL12AUG-S1 : 37

(a) Decibel / 3fawer (b) Newton /
e

(c) hertz / g&of (d) Tesla / &&ar

(29) Which colour is formed when Blue and Green are
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mixed?
Arer TAUT & 3T o TH#0T & et AT LT 9Ted 8IdT 87
SSCCGL12AUG-S1:38
(a) Cyan / T&aTeT

(c) Black / =relr

(b) Brown / sy
(d) Violet / S1=iY

(30) When a ball is thrown vertically upwards, which of
the following quantities remains constant during its
motion?

Te 31 ol daqde ¥ S ek 1ot I SHDT ATed & GNTad
fArafaf@a # @ wia-8r #ifdes AT 3rer W g?
SSCCGL12AUG-S2 : 37
(a) Energy / 3T
fawamas

(c) Velocity / 31fa

(b) Displacement /

(d) Acceleration / 3ty

(31) What is the SI unit of heat energy?
SSHT T TH. TS, AT FIT 87
SSCCGL12AUG-S2 : 38

(a) Joule / Sfet

(b) Newton / =gcsT

(c) Calorie / &Y

(d) Kelvin / $feaet

(32) Why does water tank appear shallower when
viewed from the top?

IR Y ST W GTelY T Eh 3T FT oS aarg?
SSCCGL10AUG-S3 : 37

(a) Due to reflection / wfafds & sROT

(b) Due to refraction / 379acisT & SHITOT

(c) Due to diffraction / [aadeT & 0T

(d) Due to total internal reflection / iﬁl‘lﬂ?—!ﬁ?

gfafss & sror

(33) Which colour is formed when Red and Green are
mixed?

STl T 8 T & FASo7 § Sley |1 o1 ured 2rar &2
SSCCGL10AUG-S3 : 38
(a) Light blue / el sitelr
(c) White / &3

(b) Yellow / drer
(d) Grey / Teler

(34) What is the value of the Least Distance of
Distinct vision (in cm) for a normal human being?
T ATHAT HosF o forw gease gfse i wgeTaa gr
(@ ) fraet g g2

SSCCGL12AUG-S3 : 38

(@) 2.5 (b) 25 (c) 58
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(d) 60

(35) Electric Motor converts _____ energy to
mechanical energy

faega AT 33T &1 7ifye 39 & aeadr 8|
SSCCGL11AUG-S2 : 37
(a) sound &afa

(c) chemical THTAAS

(b) mechanical Iif¥s
(d) electrical faegd

(36) Optical fiber works on which of the following
principle of light?

ThTeT ] Aol & & Jehrer & fohdt e X
F FATE?

SSCCGL11AUG-S2 : 38

(a) Reflection TRt

(b) Refraction 319adeT

(c) Diffraction faadsT

(d) Total internal reflection @WW‘(‘H

(37) If the orbit of a planet is an ellipse then what is
the point at which the Sun is located called?

IS 778 T el Qg & o g g Sra wgd g g,
AT HEAT 67
SSCCGL17AUG-S2 : 37
(a) Centre / Shelg

(c) Incentre / 37f@ahg

(b) Circumcenter / aRf&r
(d) Focus / ®Ihd

(38) The sliding friction is than the
static friction.

SSCCGL17AUG-S2 : 38
(a) double / EXaT
(c) greater / 31T

(b) same / TehlehX
(d) smaller / &

(39) Convex mirror is generally used in __.
AT AT ST AT FHgar gl
SSCCGLO9AUG-S3 : 37

(a) solar cookers H’l‘TﬂET

(b) ophthalmoscope =17 3idgeff

(c) reflector for head light 3AET FT FfdeTas
(d) rear view mirror 92=eif gqur

(40) What is the SI unit of frequency?
3T T TH. TS, A= F1 87
SSCCGLO9AUG-S3 : 38
(a) Newton =gce1

(c) Farad g

(b) Watt ate

(d) Hertz g<<t
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(41) Supercooling is cooling of liquid
3rfarefrert (GoR Hfeiem) foned ga r

FLATEIAT B |
SSCCGL16AUG-S3 : 37
(a) below melting point / 3TeleTieh & A

(b) below freezing point / fg#Te & A
(c) at melting point / ITelelieh I
(d) above melting point / 3TelsTieh & FUT

(42) When light passes from one medium to another,
this phenomenon of change in its direction is called

STPTRT 5 FTEETT & G AT 3 T T SR e o

SSCCGL16AUG-S3 : 38
(a) Refraction / 3M9dcisT

(b) Diffraction / [@adsT
(c) Propagation / TaRoT
(d) No option is correct / 1S Tasheld TEY g1 &1

(43) In science a push or pull of an object is called

mﬁﬁmaﬂgwmma{mﬁ
FEd ol
SSCCGL17AUG-S3 : 37
(a) Pick / geTetl

(c) Force / &el

(b) Lift / 3811
(d) Shut / ¢

(44) There are how many vocal cords in the human
voice box?

AT aeh g & fehcel areh-ci 8l &7
SSCCGL17AUG-S3 : 38
(@) One / Tesh

(c) Three / &

(b) Two /&
(d) Four /TR

(45) If the speed of an object moving along a straight
line is constant, its motion is said to be

uﬁmwmﬁ?mﬂwﬁmaﬁrmaﬁrw
AT @l & Y 3 a8 S °rel

gl

SSCCGL18AUG-S2 : 37
(@) Uniform / Teh@HATT
(c) Circular / gdTeniT

(b) Periodic / 3mmadt
(d) Non-uniform / 378&HTeT

(46) The strength of a force is usually expressed by its

Free Study Material Join: Telegram.me/ExamsCart

SSCCGL18AUG-S2: 38

(a) Motion / 31far

fear

(c) Interaction / 31T fohaT
gR@AToT

(b) Direction /

(d) Magnitude /

(47) The side mirrors of vehicles are of which type of
mirrors?

=it o Ireia guuTt (a18s fARR) & foh TehIR 3 gdoT T
3TN T ST &7
SSCCGL18AUG-S3 : 38
(a) Convex / 3del

(c) Plane / §HdA

(b) Concave / 3Tadel
(d) Inverted / 3T

(48) What is the process of melting also called?

SSCCGL18AUG-S3 : 41

(a) Fusion / Heldlel

(b) Galvanization / I2Tg SI9eT feig
(c) Crystallization / fohgeeiienior
(d) Evaporation / aTydIehioT

(49) In a qualitative way, the tendency of undisturbed
objects to stay at rest or to keep moving with the
same velocity is called

IUTTHS mﬁﬁm’raﬂaaﬁmﬁwﬁmw
S 3 v ) Y :
SSCCGL18AUG-S1 : 37
(a) force Sel

(c) friction &r¥oT

(b) acceleration da3or
(d) inertia STsdd

(50) The time taken by a pendulum to complete one
oscillation is called its?

A clloleh Teh alolel QT it H STclell §HI SRl § 38
Tl cileleh T ST g 87

SSCCGL18AUG-S1: 38

(a) Maximum speed 31fIeda aTer

(b) Average speed 3i&ad el
(c) Time period 3TTad et
(d) Time interval T 3iaTel

(51) Vocal chords in women are
vocal chords in men.

ATR3HT & aTeh-cic] TES T Jolell A
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SSCCGL19AUG-S1:38
(@) 5mm shorter / 5 Y. e &

(b) 15mm shorter / 15 &Y. & ofaT
(c) 5mm longer / 5 &Y. 31f8e o
(d) 15mm longer / 15 T&#T. 31417 war

(52) On which principle does the hydraulic lift works?
e e R R O avrer el 87
SSCCGL16AUG-S1 : 37

(a) Newton's law / gt & f&erd

(b) Pascal's law / AT&ehel & f&gerd

(c) Archimedes's law / 3T fATSST & fagura

(d) Joule's law / e & foig@re

(53) At what temperature (in degree Celsius), the
numerical values on Celsius and Fahrenheit scales
become equal?
ra daraareT (f3af aafaaa #) ) aafaad qor
BRABTSE Hehel TR 3T ATl THTT g1 ST 82
SSCCGL16AUG-S1: 38
(a) —40 (b) 40 (c) 273

(d) =273

(54) Who developed the theory of relativity?
ATIeTaT (A fehae faen i@ fhar ar?
SSCCGL16AUG-S1 : 44

(a) Issac Newton / 3-]133\%3}’1‘\2?[

(b) Charles Darwin / aTed S1fdeT

(c) Marie Curie / aﬁﬂag—aﬁ

(d) Albert Einstein / 3Teld¢ ATSHCTT

(55) If the speed of an object moving along a straight
line keeps changing, its motion is said to be

uﬁmwwa:m%mﬁaﬂﬁmmaﬁrw

SSCCGL19AUG-S2 : 37
(@) Uniform / TehGHATT
Jradf

(c) Circular / IdTerIT
AT

(56) The substances which reduce friction are called

(b) Periodic /

(d) Non-uniform /

Y verd S a¥uT R H A &
SSCCGL19AUG-S2: 38
(a) irregularities / AfAAfATAT

s

(b) lubricants /

Free Study Material Join: Telegram.me/ExamsCart

(c) adhesives / 31 TISTH
fRgfar

(d) viscous /

(57) If the force applied on the object is in the
direction opposite to the direction of motion, the
speed of the object
aﬁmaﬂawwmwaﬁr%maﬂaﬁﬁqﬂa
Ream 3t 21 & A g
SSCCGL19AUG-S3 : 37

(a) increases / e &1

EIGIES
(c) decreases / FH BT &1
THTT TeT

(b) stops / ¥

(d) no effect / IS

(58) The SI unit of acceleration is

SSCCGL19AUG-S3: 38
(a) meters per seconds squared / #eX It g7 Ahv1s

(b) meters per second / HIex gfa AorE
(c) seconds per meter / A8 Ut HeX
(d) seconds per meter squared / @& Ui Fa7 #Hiex

(59) Contact force is another name for

SSCCGL20AUG-S1 : 37
(a) Friction / &r¥oT

(b) Magnetic force / THASHIT Tel

(c) Electrostatic force / fEUX degd oot
(d) Muscular force / 92T g1

(60) The force of friction between two surfaces will
increase if:

& Adel & 9T ST aTelT 9907 ol §6cT & G :
SSCCGL20AUG-S1 : 38

(a) a layer of lubricant is kept between the two
surfaces / & JYOI & &1 TAgeh &l Tl 1aNTg ST

(b) the two surfaces are pressed harder / @l=it qai s
Selqdeh el ST

(c) air gap is created between the two surfaces / &
gYGI & ST gaT I 3HRTeT I@T ST

(d) irregularities on both the surfaces are removed /

1T YT Y Tolqdeh GaTdT ST

(61) Energy in the form of heat is wasted when a
machine is operated. This heat is generated due to
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e g forelt 7l 1 392eT Al & oY avoT & 39T

SSCCGL21AUG-S1 : 37
(a) burning / STelsll

(c) combustion / &gl

(b) friction / T¥oT
(d) lubrication / 39HigeT

(62) The incident ray, the at the point of
incidence and the reflected ray all lie in the same
plane.

foror Foft vk AT A g 2
SSCCGL21AUG-S1: 38
(a) surface / FAC)

(c) normal / 37T &eraAs
RIGAUT FHIOT

(b) tangent / FULIET

(d) angle of reflection /

(63) The impression of an image persists on the retina
for about of a second.

feaT 9T 99 UfATS 7 TeITa SI9TeTaT

AT BT &

SSCCGL21AUG-S2 : 38

(@) 1/10v (b) 1/8¢ (©) 1/160
(d) 1/5th

HhoTE dh

(64) Which of the following instrument is used to
measure Soil Water Tension?

HeT H ST calld A9 & foIT 91T o) STt arel I a1
e gt ST &7

SSCCGLO5AUG-S1: 36

(a) Photometer YehTRIATAT

(b) Pyrometer 3dT9ATIY
(c) Psychrometer [SeRTEATAHTIY
(d) Tensiometer deITaHTYY

(65) What is the Sl unit of Force?
ol T TH 37TS AT fHar &7
SSCCGLO5AUG-S1 : 37
(a) Pascal 9r&hel

(c) Newton el

(b) Boyle sTIrer
(d) Watt are

(66) Which one of the following is a bad Thermal
Conductor?

ﬁmﬁ@aﬁﬁaﬁawwgﬂmqﬁmﬁ%‘?
SSCCGLO5AUG-S1: 38
(a) Aluminum TegfAfaTH

(c) Glass e

(b) Copper draT
(d) Silver TT&r

(67) Meter in a vehicle that calculates distance

Free Study Material Join: Telegram.me/ExamsCart

covered by the vehicle is called .

T HIcT it ATET GaRT a2 & IRAY glT T AT & 39
____ @Il
SSCCGLO6AUG-S1 : 37
(a) Speedo meter ATTATIY
qYATYY

(c) Thermometer ¥Ffeex
[ETIE GRS

(b) Odometer

(d) Kilometer

(68) Reflection from a smooth surface like that of a
mirror is called reflection.

EIOT S farehet IoC  glet aTel TRIdciel ENERD)
HE
SSCCGLO6AUG-S3 : 37
(a) regularfafR@&a

(c) diffused AERT

(b) irregular 31fAR¥AT
(d) fused Efrera

(69) What is the unit of resistance?
TR T AT ST SIS FAT &7
SSCCGLO6AUG-S3 : 38
(a) ohm 30eH

(c) henry g

(b) farad his
(d) weber X

(70) What is the other name of Galileo's law of falling
bodies?

Aferfeorar & TR R & &g Fi 3R g e a ST
STaTg ?

SSCCGLO8AUG-S1 : 37

(a) Law of motion / 31fa &1 I

(b) Newton's first law / =gsT T Ugell s

(c) Newton's second law / WW{HTF%WH

(d) Newton's third law / =&+ ol TrERT foiars

(71) Which of the following device is best suited for
measuring the temperature inside metallurgical
furnaces?

Ao & @ e a1 7= urq s1efedt & 3T &
ATIATST T AT o ToIv Tad 3T 872
SSCCGLO8AUG-S1 : 38

(a) Pyrometer / qraRi#ex

/ gAfERT

(c) Thermometer / TATHET (d)
Thermistor / THET

(b) Thermocouple

(72) For an object, the state of rest is considered to be
the state of speed.
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TRl a&q T faRTe 3raTuT AT el Y HaEAT AT
ST
SSCCGL23AUG-S3 : 37
(a) increasing S&ct_§

(c) inverse A

(b) decreasing amg’l?ﬁgé
(d) zero =T

(73) The laws which govern the motion of planets are
called .
PREIKIGEIEGIG KGR R S T RS G
SSCCGL23AUG-S3 : 38

(a) Newton's Laws #g¢+l & foiaa

(b) Kepler's Laws TeRk & foraar
(c) Avogadro's Laws 3T@I9TIGT & feageT
(d) De Morgan's Laws & #TeTeT & fageT

(74) An image formed by a plane mirror, that cannot
be obtained on a screen is called

FAAS GUUT GaART Felel aTel Forg FfAfSier Y oG R et
STET foRaT ST FehcT & 38 AT gl & ?
SSCCGL20AUG-S2 : 37

(a) Virtual image / 33Tt gfafsa

(b) Real image / ar&dide Ffafee

(c) Inverted image / 3eel Ufdfss

(d) Erect image / @ram fdfss

(75) The force exerted by a magnet is an example of

e R ST IAT el T Ueh 3GERUTR |
SSCCGL20AUG-S2: 38
(a) Non-contact force / 3789 ol

(b) Muscular force / 92T s
(c) Contact force / E9 el
(d) Electrostatic force / TeaR faegcha s/er

(76) If the force applied on the object is in the
direction of its motion, the speed of the object

uﬁmﬁgwmﬂmwwaﬁgaﬁmﬁaﬁrﬁwﬁ

SSCCGL22AUG-S3 : 37
(a) increases / &l &

ST
(c) decreases / FHEIN &
9T AT

(b) stops / &

(d) no effect / P15

(77) The motion of a freely falling body is an example
of motion.
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WA T A PR @ ehaeqdafa__ arfa
3eTERT R |

SSCCGL23AUG-S1 : 38

(a) uniformly accelerated / TehTHATT caRd

(b) non-uniformly accelerated / 38T caikd
(c) constant velocity / FE2R aaT

(d) constant speed / &R aTer

(78) If an object moves in a circular path with uniform

, its motion is called uniform circular motion.
3R 1S T T T T ThEHATT  Terdr
¢ A 3H! AT T T EATST el 1t gl e |
SSCCGL22AUG-S1 : 37
(a) Speed / dTel

(c) Velocity / @91

(b) Time / G& T
(d) Acceleration / daXoT

(79) The reflection formed by the plane mirror is

FAIA GUUT AR J11e} arerr Sfafss _ gar gl
SSCCGL22AUG-S1 : 38

(a) vertical inversion / dlead-aRdadeT

(b) a real image / ardfas gfafas

(c) lateral inversion / 9TeTa@-aRadeT

(d) an enlarged image / ST fafee

(80) A ball rolling along the ground gradually slows
down and finally comes to rest is due to .
____ RO Y TR gehat arell g €Y € el gt
STl § 3R 37 H & ST gl

SSCCGL23AUG-S2 : 37

(a) Friction &r¥oT

(b) Magnetic force JFarehIar set

(c) Electrostatic force T d4rd gt

(d) Muscular force Ui s

(81) The angle between the and the incident

ray is called the angle of incidence.

3 3nfuad fRIor & S & ST Y 3T e SHIoT

FEAE |
SSCCGL23AUG-S2: 38
(a) surface gsc

(c) tangent TLI-3@T
IETUl)

(b) normal 31fAeF
(d) reflected ray RRrafda
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(82) The coil wire in the electric room heater or
electric cooking heater is called

Waﬁrm&wﬁmmwﬁﬁméﬁmﬁ
faeae dTaeh # aRY &1 it Fsel gicl & 39 e
gl

SSCCGL20AUG-S3 : 38
(a) Circuit TRwer
(c) Filament ?—IT;T

(b) Element 31adq
(d) Cells @eT
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